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o )= o) 6,700 -23.4 5,231 —-36.5 11,931 -29.7 953,480 | —39. 1
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i i 4,939 -24.5 3,532 —26.0 8,471 -25.1 945, 620| -39.2
A £ I 9, 158 —-20.8 5,450 —-29.9 14,608 | —24.5 942, 606| -39.2
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N = S VR - 10, 733| —-26.3 5,609 -19.9 16,342 | —-24.2 203, 654| -32.6
oA R 15,495| -21.4 10, 197| -25.2 25,692 | -23.0 205, 699| -32.4
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105,273 | -45.9
HE N 12, 766| —26.6 8,941 -21.9 21,707 —24.7
91, 235| —48.4
N B = 11,972 -24.7 9,435 -27.5 21,407 -26.0
B 77,186 -51.3
S A TR 8,482 -25.9 6,101 -28.1 14,583 | -26.8
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48,756 | —22.3
D1 I N ] 7,328 —23.2 5,685 —-34.5 13,013| —28.6
36,876 —-19.7
H k] R 6,496| -22.5 3,710 —-20.7 10, 206 -21.9
27,193| -18.8
K Fifi & 5,404 -19.9 3,041 -25.1 8,445 -21.8
18,800 -17.3
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57,168 | —-26.6
oA A B ik 20,263 —-18.5 12,327 -29.5 32,590 -23.0
38,561 | —-27.6
Y R P ¥ [t 8,862 —29.2 4,380 —-27.3 13, 242 | -28.6
27,519 -26.9
oA B OR 3,644| -17.5 2,063 —26.8 5,707 -21.1
22,766 | —28.0
P2/ N 3,222 —20.4 1,772 -21.3 4,994 -20.7
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